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MW
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648,000
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MW
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648,000
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MW
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MW
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A
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HI A

130,000

76,641
53,359

343,692

A213,692
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HI A
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S FOIMERRD
M Axel BB
Sl AGhA U meispe (S5 &2)
_ _ _ N E
SA-EFH - SA(SAH) - MREAY - BES Off &F OH bﬂngﬁ Hws2
= 30,250
2 90,750
101 121yl 119,320 0 119,320
= 29,830
= 89,490
04 JAR2ENS S 119,320 0 119,320
O3TII2 #HOIE 119,320
—SHOIE 2124HI(12) 97,648
= 24,412
2 73,236
—4t4 28R 21,672
= 5,418
2 16,254
301 YerBAZ 1,680 0 1,680
=2 420
2 1,260
10 SBAAEI 243 1,680 0 1,680
OBTOIE H=DF(12%) 70,0002 *12% x23] 1,680
= 420
2 1,260
s0R DRME 1,000,000 0 1,000,000
= 825,000
= 75,000
2 100,000
101 121l 950,000 0 950,000
= 783,750
= 71,250
= 95,000
04 JARZRIIS S 950,000 0 950,000
Oslg2g 950,000
—5 Y22 2I2AHI(150%) 900,000
= 742,500
= 67,500
2 90,000
—40y 2EE 50,000
= 41,250
& 3,750
2 5,000
202 Oit| 4,000 0 4,000
= 3,300
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01 =Uyoit] 4,000 0 4,000
Os|YaE Z2ME FF 20,0008 +2% 1002 4,000
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206 M=l 46,000 0 46,000
2 37,950
= 3,450
2 4,600
01 T2l 46,000 0 46,000
O3l 22 At 2,875,002 167 4 46,000
2 37,950
= 3,450
2 4,600
HUSSHH 2 742,330 1,128,058 £385,728
= 50,000
2 672,268
= 20,062
HYSSTA 2Y 121,200 158,800 A37,600
asts B 25 21,200 28,800 AT7,600
201 2sr2 | 16,400 17,000 A600
01 ARl 4,400 5,000 2600
OHIEER-= 1 4,400
~HIABYSSEN 222 NE
2,200,008 x25 4,400
03 EAI2 Y| 2,000 2,000 0
OHIBYSIESH S2RA M
10,000, 0002 * 14! 10,000
ONZBAUSSEH MY 29
2,000,0002 14! 2,000
301 YsrE a3 2,000 4,000 A2,000
10 BAFAIEI 243 2,000 4,000 £2,000
ONZBUSES 50, 0002 *40%] 2,000
308 XX/ EHHI SOl 2,800 2,800 0
05 RHXIEHH 2t 2,800 2,800 0
O BUSSTABS 223 2,800
s X 100,000 130,000 30,000
308 XX/ EHHI SOl 100,000 130,000 230,000
06 @Il 20l 100,000 30,000 30,000
ordcyy 100,000
TYDE 2 621, 130 969,258 A348,128
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307 2I2H0IE 85,000 98,000 13,000
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— =50t 1,000,000& *57H 2 5,000
Oz EMNFEINE A& 15,000,000& 23l 30,000
O=0IXXIdH 249 20,000,000 *2J4 A 40,000
¥ESE E=402t00l 2 2 60,600 40,900 19,700
201 Let2d| 4,200 4,500 A 300
01 AtE22(Hl 4,200 4,500 A 300
Oget=&H| 4,200
-89 50,000& 2004 1,000
—E2ZAH 400,000 *43] 1,600
—cl2 400,000%43] 1,600
207 A0l 20,000 0 20,000
02 AN Y| 20,000 0 20,000
O =3tAIAE 20,000,000& =14 20,000
307 QI2t0IA 36,400 36,400 0
05 2IIRAE S 36,400 36,400 0
OutE = 36,400
—Jheal 2bE 1,800,000& x183] 32,400
—&HHA ZE 2,000, 000& *23] 4,000
Hists2 2 164,780 287,711 A 122,931
201 et 139,780 126,040 13,740
01 AtS 22/t 20,080 50,680 230,600
Ogel=gHl 18,400
—E2= M# 2,000,000& *2& 4,000
—ANRES #¥ 400,000& 128 4,800
— 2Bt =ZH| 800,000& x12& 9,600
OBdu=gols a4dx=g 70,0003« *42 1,680
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= 50,000
= 10,000
05 2IIRAE =S 60,000 60,000 0
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201 Let2d| 4,000 9,830 25,830
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OZA2Esl E4X AHl24f 7,000& «50H 350
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201 Let2d| 55,900 79,930 224,030
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Ox3 ME= 1,900
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s 6,800
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FH: F=QIMETA 0
HH: 245D 84
G2l WEHA e (ctel: &
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
02 2ItBAE X 30,000 0 30,000
OgasR ELQY =] 30,000
—EQY MESSZIZ1(1,0008) 30,000
308 MHXIHHMSOIA 330,000 330,000 0
06 WI|I20USExZ 330,000 330,000 0
Os0&E gt=stw X2 (1300) 330,000
S43 0w 84 150,000 350,000 A200,000
308 XX HHSOIA 150,000 350,000 A200,000
06 WEII20UEEXS 150,000 350,000 A200,000
OZdaiustn Ed3t K& 150,000
HE 2L ZH (UMD 71,480 71,680 A 200
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04 BEASSEHFFEHI 4,200 3,780 420
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202 O4Hl 9,000 8,400 600
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A FRIMEX A
HH: HH2GZH(=LUHEX DY)
&t JI=3Hl (&9 HM
_ _ pofEN
SAN-ZH-SA(FA) - NFAY - BES (il & OH bﬂ/‘\_“’” Hlw &2
O=U0id
(20,0002 x6% *1502) )-( 10,0002 1 *1502! ) 16,500
HRES(=UMET ) 471,841 455,841 16,000
HEHH K= 471,841 455,841 16,000
2= SEIH HE= 471,841 455,841 16,000
701 JIEtSIHEES 471,841 455,841 16,000
01 JIEISI AN ES 471,841 455,841 16,000
OY==2ELE3H M3 (MIHXNRSH RS
24%, =8l) 471,841
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